FR25FE LBERFLIVUREE £

THREE

(FR25%4A1H ~ ER265E3A310)

[IRADER] (B3 : /)
KE &8 %%
Mg AR R =B & 1,607,300 | kBRI &Y
BT {T& 200,000 |dbERttitkY
SHMFBR 98 |ERITREF B
=it 1,807,398
[ZHDER) (Hif: M)
Biid &8 e
REIC KT HE s B ER 75 470,000 |15k A RGIC AT
B 35 Wil ek (RA S B <) 72,537 |Ri k- R SE Mg - R S = FHERL &
RAI0 % (RFILHB ) 50,440 | BEMOZTERE - HRVENR-FREWN
FS/AS(WDERN) 55,176 |FS/E—RL> 4L, SmER
RY—FA XK E(WDEEHL) 62,935 |AAY—RH - EEMEE - S NESR
FETYA/( REZERS) 40,000 (SARGE M - THRERER - O R AEA R
HAMIERAEY K 323,408 |FREHY - MR- LA - AER-HERS
ShdHLIEEk 30,000 (AEME AN - {THRERER
Mgt N ER) 31,016 |MERRA - HFRR S
k- TV EE8=E () 30,000 | ARGE AR - WS - MR
BEREORIV(RERBAS) 56,291 |7°'0%'194—7Y7 -DVDF-7"- &%
tfozEks 59,183 |& B4 -HA - EDfth-
N R 328,787 | T RCIHA#E
XHAM 1,609,773 p
R~ RYRL 197,625
a 1,807,398
[EE2RE K]
XHIRB | |
MR 26,200 | & AE 6 %
1 R S R 84,691 EE-1v4—-29b7° 0N 15— - FAX
BHHERR 54,661(1™—M—{% - FAEMR - X R -SMIL A
AR 120,000 B H# 5
LR 43,235|[REREEERL R - A JEH R4+
ek 328,787
[#L5]=]

IR A¥EH 1,870,398 - StHi#2%8 1,609,773 = £ B([£%F 197,625
[CDVTIE, ERR26EEI—RYBLET,



